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Prosent av tall (manglende tall)

StudentName:

x 50% = 6.5

x70% = 54.6
x 60% = 13.2
x 60% = 28.2
x 30% = 14.7
x 60% = 28.8
x 90% = 63.9
x20% =4.4

x 20% = 14.6
x70% = 62.3

www.snowmath.com

ExamDate:

x 40% = 18.4
x 50% = 32.5
x 90% = 29.7
x 20% = 0.8
x20% =17.8
x70% = 46.9
x 50% = 8.5
x 40% = 37.2
x20% = 0.8
x70% =11.2

ExamScore:
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Prosent av tall (manglende tall)

StudentName:

13 x50% = 6.5

78 x 70% = 54.6

22 x60% = 13.2

47 x 60% = 28.2

49 x 30% = 14.7

48 x 60% = 28.8

71 X 90% = 63.9

22 x20% = 4.4

73 x20% = 14.6

89 x70% = 62.3

ExamDate:

46 < 40% = 18.4

65 x 50% = 32.5

33 x 90% = 29.7

4 x20% = 0.8

89 x20% = 17.8

67 x70% = 46.9

17 % 50% = 8.5

93 x40% = 37.2

4 x20% = 0.8

16 x 70% = 11.2
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ExamScore:
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